As demonstrated in Fig. 1, the red circuit (fig. 1-(a)) is rotated around Z axis, thus forming a space,
(Fig. 1-b). In this space, the function Cfx,1, 2} meets the Laplace equation,
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The boundary condition is listed below,

(1) Atthe top surface, S, C=ab, 0<a<1, (Sis describedbyz=h,x*+y®> <R?) ;
(2) Atthesurface,®, T = & (@ is defined by rotation of the quarter circle shown in Fig. 1-a,

which is described by, Z =1 —\/I"2 ~WX*+y*=(R-N);

(3) Inthespace, I, Cfx,¥, z)isa constant at the circles described by

X' +y?=a’,z=b(0<a<RO<z<h) |y means%=0,%=0
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Question 1: Cfx, v, 2)=?
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P.S.: (1) thisis math model of a practical diffusion process. Practically, the solution may be
demonstrated in the following figure,
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(2) if the precise solution cannot be deduced, the approximation solution also is OK.



